20244 $E62HA 2024F7RH27H (L) ARF55% ~  6RF50% (1HERI55%) BEARE - BERES

TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
held ESYyZRLX 0 0 0 0 2 0 0 3 0 1 6 9 1
B 23— 0 0 1 0 0 0 2 1 3 x 7 9 1

[ MVPGTE) | +5 e EEH
[ ®=BiT [ mBFEC 125 $8@H 65 \ \ \ \ \ |
| MvPEF) | KkaE 6EE |
[ BAgF | @EHRi s | -7 | ®mEs 1S | A—nfF ] - \ \ \ |
BF KB H 1-1 He = 8-9 =15 5 10-9
BFEERF AR BRF 1-1
#BW: RA—-LX
$TIE X 1 2 3 4 5 6 7 8 9 10 11 12 13 14 2 & &8 & W& & ¥

1 tHEE | FR =n iz BR 4] 1 295
2 Big % &S k2 LS 3.2 .380
3 WA ERE | =ik R T (2) 301 21 409
4 EERE [ =R Bk —an 2 1 224
5 s = =7 R X (1) 3.1 1 1 331
6 KA BEX —R =ik R 31 1 341
7 i K —=n —=n B 3 260
8 #HE AKX sk sk i 1 2 115
9 WAL 1E—EB R IR =ik 3 1 175
10 s Bk sk —7R EES 1 2 333
11 AR EF 2LtE2 gy AR 2 1 .409
12 e F2 (1) #=n A (3) 3.2 1 4 353
13 KE BN R &0 R 3 .304

TOTAL[34 9 2 7 3/ 6 2 1] .281

FB D EST Y RILX

I8 ABFITE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BRE T R AR M & BEEK
1 & —an —on = iigmin| e s KEBEA
2 R 2 =7 X (3) R 7 286 |2 2 300
3 H1#E ER —E RS PYER He = ()
4 B4 &30 R i PR 2 10 2 1/ 1] 2 3 331
5 EiTE 7R ER RN EEEIN BiE 5 (S)
6 EHTE —=n ER —=n = 1 |4 1 1 1 318
7 EiTE &aQ =& =& e =
s HAE R £ #=n R [ T T [ [T 1
9 GTE =R axr (2 SEER Han
10 AT R —5R G EX (1) L]
— L LTI
10 42 9 2 3 2 6 289




